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Ciu 1 1.54
0.5d
W =40x9.81=392.4N; AB= 6m; BC =2.5m; AC = 8.5m; AG=4.25m
3 F, =0=>+N,cos60° ~T =0 0.25d
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3 i, =0=>+W-4.25c0s30° — N, .6+T-8.5c0s60° =0 0.25d
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S B, =0=>+4,+Nsina=0=4, =-280N 0.25d
Xét can biing cia thanh DCE: N, N N.; N =N =350N 0.5d
> —0=>+N.cosa-0.24—-N,;-04=0=N; =126N
Zfb=o=>—Afccosa+D,+N,,.=o=>D,=s4N 0.25d
S F,=0=>-N.sina+D,=0=D, =280N 0.25d
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0.5d
CP = BCtan60° =0.48tan 60° =0.8314m; Bp=+JCP* +CB* =0.96m
v, = AB-w,; =0.36:10=3.6m/s 0.25d
v 0.25d
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4/2

Dugc quét bang CamScanner



y q; .
L —
d— ¢ l
| ; S’
T,=0 0.5d
=-!-J o’ +lm v =-l-(-l-m L’)m’ +lm (da))z =-l-m L’a)’+lm d*o? =2.460"
2 2 R 2 i o 2 3 R 2 C 6 R 2 C
0.
ZU,_2 =U, +U; = +W, --121+Wc d= +m,,g-§+mcg-d =64.746J =0
T,-T,= Q.U , = ©=51303 rad /s 0.5d
Cau 6 1.54
S
0.2m—~ 3
100N, G)
: =
e ==
T,=0 0.5d
1 1 1 1(1 v.¥ 3 3 200
Tz =-2—mv¢’; +-2—JGw’ =EMVé +-2-(-2-mr2)(—:;—) =zMVé =Z;,_8_lvé =152905ch;
S U, ,=U; =+F 5 — +100N -1.5m =150 0.5d
0.5d

7;—7; =ZU|-1 =2V =3-I3ZIM/S

5/2

Dugc quét bang CamScanner



